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Algebra 2
ID: 1
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  Period____Date________________
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Assignment

Solve each equation by factoring.

1)  

 

3

  

n2 − 9

  

n − 84 = 0 2)  

   

b2 − 64 = 0

3)  

   

x2 − 7

  

x + 6 = 0 4)  

 

2

  

x2 − 12

  

x + 5 = −5

5)  

 

8

  

x2 + 80

  

x + 133 = 5 6)  

   

v2 + 12

  

v + 24 = −8
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7)  

  

a2 = 

 

16 − 6

  

a 8)  

 

6

  

p2 + 18

  

p = 60

9)  

  

k2 = 

 

7

  

k − 10 10)  

 

7

  

n2 + 29

  

n = 

 

35 + 

  

n

11)  

 

8

  

x2 − 40

  

x − 2 = −2 12)  

   

m2 − 16 + 6

  

m = 6

  

m

-2-



©O I2t0Y1x3E yK5uWtkaT SS9oPfot8wzalr9eX 8LyLNCu.K F FAvlnlt 6rmiqg4hFtasg prteVstedrsvbe8dX.8 3 DMEa6dseg Jwvi8tahX II Rn6fziInviYtnej 2AolrggeYbhrEaf M2V.I Worksheet by Kuta Software LLC

13)  

 

3

  

x2 − 5

  

x = 0 14)  

 

15

  

r2 + 58

  

r + 48 = 0

15)  

 

10

  

n2 − 7

  

n + 1 = 0 16)  

 

3

  

x2 − 20

  

x − 2 = 5

17)  

 

3

  

v2 − 14

  

v + 11 = 3 18)  

 

15

  

b2 + 40

  

b + 14 = −6
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Answers to Assignment (ID: 1)

1)  {−4, 7} 2)  {−8, 8} 3)  {1, 6} 4)  {5, 1}
5)  {−8, −2} 6)  {−4, −8} 7)  {−8, 2} 8)  {−5, 2}
9)  {5, 2} 10)  {1, −5} 11)  {5, 0} 12)  {−4, 4}
13)  
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